SAPPHIRE HYDRAULIGS

HYDRAULIC HOSES AND FITTINGS

\\'\. =1 /

*Contact us for hoses andffittings.not'in the catalog *Only items in this catalog are carried in stock.
*Some items are subject to minimum quantites or sold in multiples of standard quantities.
*Prices subject to change without notice.
www.sapphirehydraulics.com



: Page 3-7. HYDRAULIC HOSES
3 ' Page3. FORZADUE

FROZA DUE- SHARK SKIN
Page4. POWERSPIR BESTFLEX R13
" Page5. BALPAC PREMIUM
BALPAC IMPACTUS
“ page6. BALPAC 3000
Page7. POWERSPIR BESTFLEX 4SH
Page 8-19. HYDRAULIC FITTINGS

Page 20. Crimping Chart

SAPPHIRE HYDRAULICS




FORZA DUE

DIN EN 853 2SN / SAE 100R2AT / IS0 1436 - 10.1004.

High pressure, double steel braid reinforced hydraulic hose

00 ©

W (]
I ) B

REFERENCE # DN oh SAE D MPa PSi i kg/m
R2AT-03 10.1004.03 DNS e -3 48 134 41.5 6100 165.0 24400 89 032
R2AT-04 101004.04 DNG 14" & 6.3 147 40.0 5800 160.0 23200 100 038
R2AT-05 10.1004.05 [sL1:] 5/16” -5 80 16,5 35.0 5100 140.0 20400 14 0.45
R2AT-06 101004.06 DNID 8" -6 25 187 330 4800 132.0 19200 127 053
R2AT-08 101004.08 DN12 [ -8 127 29 215 4000 110.0 16000 178 065
RZAT-10 10100410 D1 S/8 -10 16,0 253 25.0 3100 100.0 14800 200 0,76
RZAT-12 10.1004.12 D19 E'C -12 2.0 293 F4 5] 3200 86.0 12800 240 100
R2AT-16 10100416 DN25 LB =16 234 e 16.5 2400 65.0 9600 300 148
R2AT-20 10100420 DN31 1144 -20 320 475 12.5 1900 50.0 7600 419 214
R2AT-24 10.1004.24 D38 1z -24 8.0 546 5.0 1400 36.0 5600 500 2,55
R2AT-32 101004 .32 DNS1 2 -32 508 BT4 8.0 1200 320 4800 630 330
R2AT-40 10.1004.40 ONG3 FAlry -40 635 780 1.0 noo 28.0 4400 T60 39
R2AT-48 101004 .48 DINT& 3" -&48 Th.2 20,0 5.5 BDO 22.0 3200 200 4,96

IMHER TUBE: sgamléss ail resistant APPLICATION: petroleum base hydraubc COUPLINGS: Balflex®2-petce Iithings MNOTES: : Sizé -48 (37) nat included in the

synthetic rubber fuids serie ferrules. Bal b standards.

REINFORCEMENT: 2 high tensile steel wirg TEMPERATURE RANGE: -40%C (-40%F) s Balflex® hydraulic hose DIN EN 853 25N /

braids +100RC (+2129F); "e"l" ent service SAE 100R2AT has a very superior working

OUTER TUBE: black wrapped, ail, weather
and abrasion resistant synthetic rubber
SAFETY FACTOR: 4:1

and burst pressure compared with only SAE
100R2AT

BALFLEX FORZA DUE 25N - DNS5 - DIN EN 853/ ; 2AT | IS0 1436 -

FORZA DUE - SHARK SKIN

DIN EN 853 2SN / SAE 100R2AT / 1SO 1436 - 10.1084.
High pressure, double steel braid reinforced hydraulic hose

REFERENCE L DN f g
R2AT-03-5C  101054.03 D5 ne” 3 48 13.4 415 6100 165.0 24400 89 032
R2ZAT-04-5C 101054.04 DNG /4 4 6,3 14,7 40.0 5800 160.0 23200 100 0,38
R2AT-05-5C 10105405 DHE 56" -5 8.0 16,5 35.0 $100 140.0 20400 n4 0,45
R2AT-06-5C 10105406 DN /e & 9.5 18,7 33.0 4800 132.0 19200 127 0,53
R2AT-0B-5C 10105408 DN12 Ir 8 127 219 21.5 4000 10.0 16000 178 0,65
R2AT-10-5C 10105410 DN 5/8° -10 16,0 253 25.0 3700 100.0 14800 200 0.76
R2AT-12-5C 10105412 DN19 kI -12 190 293 21.5 3200 86.0 12800 240 1.00
R2AT-16-5C 10105416 DN25 " -16 254 e 16.5 2400 65.0 9600 300 .48
INMER TUBE: zeamless ail resisiant APPLICATION: petroleurmn base hydraulic COUPLINGS: Balllex®2-piece littings MOTES: : Size -48 (3") nat included in the
synthetic rubber fluids serie 23 with 20 serie terrules. Balllex® standards

REINFORCEMENT: 2 high tensile steel wire TEMPERATURE RANGE: -40%C {-40%F) Multicrimp fittings serie BW23/BF21/P23 Balilex® hydraulic hose DIN EN B53 25N /
braids #100%C (+2129F); Intermillent service: «120°C COVER: U.5. MSHA APFROVED SAE 100R2AT has a very superior working
OUTER TUBE: black wrapped, oil, weather (+248%F ) Max, termperalure recommended lor  AVAILABLE VERSIONS: High Temperaiure and burst pressure compared with anly SAE
and abrasion resistant synthetic rubber wialer base hydraulic fluids: «TO%C (+1589F) {Tropic) f Low Temperaiure (Artic) / Tough 100R2ZAT

SAFETY FACTOR: 4:1 Max, temperature recommended far air: Coaver (Armour guard)

+60°C (+1409F)

BALFLEX FORZA D{NE . DIN EN 853 [ SAE 100RZAT [ 150 1436 Flams Resistant - MSHA |C




POWERSPIR BESTFLEX R13

SAE 100R13 / DIN EN 856 R13 / ISO 3862 - 10.1014.-F

Very high pressure, extra flexible, four or six steel wire spirals reinforced

hydraulic hose

W O
PS

REFERENCE # ON nch  SAE Dash MPa MPa PSI kg/m
45H-12-R13/15-F 10100912F  DNI19 3/4 -12 19.2 30,8 42,0 6100 168,0 24400 280 156
45H-16-R13/15-F 10.100916F  DN25 Ik -16 25,6 376 42,0 6100 168,0 24000 340 209

R13-20-F 10.0014.20F  DN31 11/4° -20 321 494 35,0 5100 140,0 20400 420 390

R13-24-F 101014.24F  DN38 /2" -24 383 56,9 35,0 5100 140,0 20400 500 4,96

R13-32-F 101014.32F  DN51 Z -32 510 709 35,0 5100 140,0 20400 620 7.09
INNER TUBE: seamless oil resistant TEMPERATURE RAMNGE: -407C (-40%F) AVAILABLE VERSIONS: tough cowver [ *On sizes -12 (3/47) and -16 (17) the Balflex®
synthetic rubber +100°C (+2129F); Intermittent service; +120°C  Armourguard POWERSPIR DIN EN 856 45H and SAE
REIMFORCEMENT: 4 or & spirals of high {+2489F) Max. temperature recommended for  NOTES: According to 150 3862/EN 856 100R13 and SAE 100R15 hoses are the
tensile steel wire water base hydraulic fluids: +70%C {+158%F) type RI3/SAE JSIT type R13, the Balilex® same. The working pressure of Balflex®
OUTER TUBE: black wrapped, oil, weather Max, temperature recommended for air: POWERSPIR SAE 100R13 hose i1s of 4 steel POWERSPIR DIN EN 856 45SH SAE 100R13
and abrasion resistant synthetic rubber +609C (+140%F) wire spirals on sizes -12 {3/4°) and -16 (17} 3f47 and Balflex® POWERSPIR DIN EN 856
SAFETY FACTOR: 4:1 COUPLINGS: Balflex® Z-piece fillings serie and of & steel wire spirals on sizes -20 45H SAE 100R13 17 are higher than standard
APPLICATION: petroleum base hydraulic 24/26 with 20 serie ferrules, Balflex® 00/47), -24 02/27) and -32 (27), SAE 100R13.
fluids Multicrimp fittings serie BW23/JJ

oo J///// SRR 1011} 0 TNV 50 S ORI Vi W S s |




BALPAC PREMIUM

DIN EN 857 2SC / SAE 100R16 / ISO 11237 - 10.1019.

High pressure, double steel braid reinforced hydraulic hose

OO0 - I

REFERENCE # ON T SAE Dash Trm MP [2:1] MPa PS i
R16-04 10.1019.04 DN6 Ly 4 6.3 132 42.5 6200 170 24800 50 0,27
R16-05 10.1019.05 ONE 516" -5 80 151 40 5800 160 23200 af 0,30
R16-06 10,1019.06 ON10 /8 6 95 17,0 35 5100 140 20400 65 0,42
R16-08 10.1019.08 DN12 /2" 8 127 20,5 n 4500 124 18000 90 0,52
R16-10 10101910 DN11& 5/8° -10 16,0 242 28 4000 112 16000 100 0,63
R16-12 10101912 DM19 3/4" -12 19,0 282 28 4000 112 16000 120 0.80
R16-16 101001916 DN25 T -16 254 356 21 3000 84 12000 150 1,22
INNER TUBE: seamless oil resistani TEMPERATURE RANGE: -40°C (-40%F) APPLICATION: peiroleum base hydraulic AVAILABLE VERSIONS: Smooth cover
synthetic rubber +100°C (+2127°F): Intermittent service: +120%C  fluids (Shark Skin) / High Ternperature (Trapic)
REINFORCEMENT: 2 high tensile steel {+2489F) Max. temperature recommended for  COUPLINGS: Balllex® 2-piece fitlings { Low Temperature (Artic) / Tough Cover
wire braid water base hydraulic fluids: +TOPC (+158%F) serie 23 with 20 serie ferrules, Balilex® (Armourguard)
OUTER TUBE: black wrapped, ail, weather Max. temperature recommended for air Multicrimp fittings serie BW23/BF21/P23 NOTE: For sizes DNI16(S/87), DNI9I3/47),
and abrasion resistani synthetic rubber +G0VC (+140%F) COVER: U.5. MSHA APPROVED DN25{17), consider Balflex Balpac Premium
SAFETY FACTOR: 4:1 Approved at 1 D00 000 impulse cycles at

1.33% WP

paLkiex |/ SALIE - PREMIUM =xcr=DS DIM EN 55

BALPAC IMPACTUS

Exceeds DIN EN 857 2SC / Exceeds SAE 100R16 - 10.1010

Extremely high pressure compact, double steel braid reinforced hydraulic hose

OO0 O . )

Balflex proprietary specification

REFERENCE # ON nch  SAE Dash MPa PSI MPa Ps mm kg/m
R161-04 10.1010.04 DME /4" -4 6,3 134 45 6500 180 26000 50 0.27
R16I-05 101MN.05 NNA 516" -h B.O 15.0 42 A0 168 24400 57 0,30
RiAI-06 101010 .06 NNI0 e -h 925 17,2 40 5700 160 22800 65 042
R161-08 10.1010.08 D12 e -8 12,7 20,6 35 5100 140 20400 90 0,52
Ri16I-10 1001010 DN16 5/8" -10 16 239 29 4200 e 16800 100 0,63
R161-12 10101002 DN19 34 -12 19 277 28 4100 nz 16400 120 080
R1&l-16 NIM0A NN2S 1 16 294 354 20 2900 B0 N&a00 150 .22

INNER TUBE: seamless oil resistant TEMPERATURE RANGE: -40°C (-40%F) APPLICATION: petroleumn base hydraulic AVAILABLE VERSIONS: Smooth cover

synthetic rubber +1009C (+2129F); Intermittent service: «120°C  fluids (Shark Skin) / High Temperature (Tropic)

REINFORCEMENT: 2 high tensile steel (+248%F) Max. temperature recommended for  COUPLINGS: Balflex® 2-piece fittings { Low Temperature (Artic) f Tough Cover

wire braid water base hydraulic fluids: +TOVC {+1589F) serie 23 with 20 serie ferrulas. Balflex® (Armour guard)

OUTER TUBE: black wrapped, oil, weather Max. temperature recommended far air: Multicrimp fittings serie BW23/BF21/P23

and abrasion resistant synthetic rubber +600C (+140%F) COVER: U.5, MSHA APPROVED

SAFETY FACTOR: 4:1

Y R

5




BALPAC 3000

DIN EN 857 1SC / SAE 100R17 / ISO 11237 - 10.1017.

High pressure, single or double steel braid reinforced hydraulic hose

O © Eal- L

REFERENCE # DN inck SAE Dash mi mm MPa PS MPa Psi mim
1 Wire Braid
R17-04 10.1017.04 DN6& /4" -4 63 125 22.5 3300 90.0 13200 51 0.22
R17-05 10.1017.05 DNE 5/16" -5 8.0 13.8 21.5 3200 86.0 12800 60 0.27
R17-06 10.1017.06 DN10 38 -6 95 16.2 21.0 3000 84.0 12000 64 0.34
R17-08 10,1017.08 DN12 /2" -8 127 19.4 21.0 3000 B84.0 12000 89 0.42
2 Wire Braid
RI7-10 10001710 DN16 5/8" -10 159 24.2 21.0 3000 84.0 12000 102 0.51
RIT-12 1001712 DM19 & -12 19.0 28.2 21.0 3000 84.0 12000 122 0.63
R17-16 10001716 DNZ25 17 -16 254 35.6 21.0 3000 84.0 12000 152 1.00
INNER TUBE: seamless oil resistant TEMPERATURE RANGE: -40°C (-40%F} APPLICATION: petroleum base hydraulic AVAILABLE VERSIONS: Smooth cover
synthetic rubber +100%C (+2129F); Intermittent service: +1209C  fuids (Shark Skin) / High Temperature {Tropic)
REINFORCEMEMNT: 2 high tensile steel wire (+248%F) Max. temperature recommended for COUPLINGS: Balflex® 2-piece fillings { Low Temperature (Artic) / Tough Cover
braid on sizes 1/4°, 5/16°, 3/8” and 1/2” and 2 water base hydraulic fluids; +T09C (+1589F) serie 23 with 20 serie ferrules, Balilex® (Armourguard)
braids on sizes 5/87, 374" and 17 Max, temperature recommended for air Multicrimp fittings serie BW23/BF21/P23
OUTER TUBE: black wrapped, oil, weather +609C (+140%F) COVER: U.5. MSHA APPROVED

and abrasion resistant synthetic rubber
SAFETY FACTOR: 4:1

BALFLEX / BALPALC - 3000 SAE 100R17/ DIN EN 857 - 1SC 1 1SO 11237 - DN6 - 14" - WP 1L3ME% | Flame Resistant - MSHA |C-252/00




POWERSPIR BESTFLEX 4SH

DIN EN 856 4SH / ISO 3862 - 10.1009.-F

Very high pressure, extra flexible, four steel wire spirals reinforced

OO0 © I A Q-

hydraulic hose

REFERENCE # inch inch  SAE Dash i MPa Psi MPa Psi mm kg/m
45H-12-R13/15-F  10100912F DN19 34 -12 19.2 30,8 42,0 6100 168,0 24400 280 1.56
4SH-16-R13/15-F  10100916F DM25 1" -16 256 376 42,0 6100 168,0 24000 340 209

45H-20-F 100009.20F DN3I 1.1/4" -20 321 44,5 35,0 5100 140,0 20400 460 2,57

45H-24-F 101009.24F DN38  11/2° -24 383 517 30,0 4400 120,0 17600 560 344

45H-32-F 101009.32F DN5I 2 -32 51.0 66,0 25,0 3700 100,0 14800 700 490
INNER TUBE: seamless oil resistant APPLICATION: petrolesm base hydraulic TEMPERATURE RAMGE: -40°C {-409F) *On sizes - 12 (3/47) and - 16 (17) the
synthetic rubber fluids +1009C (+2129F); Intermittent service: +120°C  Balflex® POWERSPIR DIMN EM B56 45H and
REINFORCEMENT: 4 spirals of very high COUPLINGS: Balflex® 2-piece fitlings serie (+248°F) Max. lemperature recommended for  SAE 100R13 and SAE 100RI15 hoses are the
tensile steel wire 24/26 with 20 serie ferrules. Balflex® water base hydraulic fluids: +TO®C (+1589F) same. The working pressure of Balflex®
OUTER TUBE: black wrapped, oil, weathear Multicrimp fittings serie BW23/0) Max. temperature recommended for air: POWERSFIR DIN EN BS6 45H / SAE 100R13
and abrasion resistant synthelic rubber AVAILABLE VERSIONS: tough cover / +60°C (+1409F) / SAE 100RIS 3/4"and 17are higher than
SAFETY FACTOR: 4:1 Armourguard standard SAE 100R13.

[/ or s B e ik




Hydraulic one piece fittings 43 Series carbon steel RIAT /R2AT /1SN /2SN /R16 /R17 /2SC/3TE

One piece JIC 37¢ fittings - 9
e : . : L _1 T &
afidll__ & i a4 [ f“m:m‘l S
ST L T i":"' § W
28142 28140 28242 28138 28139
One piece ORFS fittings 10
~M_} pa—
o . o — T ] il _ &
[ 1HA0__h ,_*/ e (I il s an ]
E :m‘ v
28900 28907 28912 28908
One piece NPT- NPSM fittings 11
==y
28261
One piece SAE Flanges fittings 3000/6000 PSI 12
: fl__k da b N : fl__} qT 1
—amr  f T ~emr |1 &
28182 28183 28184 28282 28283 28284
One piece SAE Flanges fittings 9000 PSI 13
—ll__}
.
48282 48283 48284
One piece Metric fittings 14-16

28804 28203 28305 28306 28116 28404 28405 28406

Iy
LS RN

28300

28100 28400 28112 28108 28111

28118

*Contact us for fittings not on this list 713-331-1131
www.sapphirehydraulics.com



http://www.sapphirehydraulics.com/

Hydraulic one piece fittings 43 Series carbon steel RIAT /R2AT /1SN /2SN /R16 /R17 / 2SC/3TE

One piece JIC 37° female
Hose L.D. Thread (inch) Part Number

1/4" 7/16" 20h UNF 281420704
1/4" 1/2" 20h UNF 281420804
5/16" 1/2" 20h UNF 281420805
1/4" 9/16" 18h UNF 281420904
5/16" 9/16" 18h UNF 281420905
3/8" 9/16" 18h UNF 281420906
3/8" 5/8" 18h UNF 281421006
5/16" 3/4" 16h UNF 281421205
3/8" 3/4" 16h UNF 281421206
1/2" 3/4" 16h UNF 281421208
3/8" 7/8" 14h UNF 281421406
1/2" 7/8" 14h UNF 281421408
5/8" 7/8" 14h UNF 281421410
1/2" 1"1/16 12h UNF 281421708
5/8" 1"1/16 12h UNF 281421710
3/4" 1"1/16 12h UN 281421712

1= 1"1/16 12h UNF 281421716
3/4" 1"5/16 12h UNF 281422112

1" 1"5/16 12h UN 281422116

1" 1"5/8 12h UNF 281422616
1"/4 1"5/8 12h UN 281422620
1"1/4 1"7/8 12h UNF 281423020
1"1/2 1"7/812h UN 281423024

2" 2"1/212h UN 281424032

One piece JIC 37° Female (90° Elbow)

Hose L.D. Thread (inch) Part Number
1/4" 7/16" 20h UNF 281380704
/4" 1/2" 20h UNF 281380804
1/4" 9/16" 18h UNF 281380904
5/16" 9/16" 18h UNF 281380905
3/8" 9/16" 18h UNF 281380906
3/8" 5/8" 18h UNF 281381006
3/8" 3/4" 16h UNF 281381206
/2" 3/4" 16h UNF 281381208
3/8" 7/8" 14h UNF 281381406
/2" 7/8" 14h UNF 281381408
5/8" 7/8" 14h UNF 281381410
/2" 1"1/16 12h UNF 281381708
5/8" 1"1/16 12h UNF 281381710
3/4" 1"1/16 12h UN 281381712
3/4" 1"5/16 12h UNF 281382112

15 1"5/16 12h UN 281382116
1" 1"5/8 12h UNF 281382616
1"1/4 1"5/8 12h UN 281382620
1"1/4 1"7/8 12h UNF 281383020
1"1/2 1"7/8 12h UN 281383024
28 2"1/212h UN 281384032

One piece JIC37°male
Hose L.D. Thread (inch) Part Number
1/4" 7/16" 20h UNF 281400704
1/4" 1/2" 20 H UNF 281400804
5/16" 1/2" 20h UNF 281400805
1/4" 9/16" 18h UNF 281400904
5/16" 9/16" 18h UNF 281400905
3/8" 9/16" 18h UNF 281400906
3/8" 3/4" 16 h UNF 281401206
1/2" 3/4" 16h UNF 281401208
3/8" 7/8" 14h UNF 281401406
1/2" 7/8" 14h UNF 281401408
5/8" 7/8" 14h UNF 281401410
1/2" 1"1/16 12h UNF 281401708
5/8 1"1/16-12h UNF 281401710
3/4" 1"1/16 12h UN 281401712
3/4" 1"5/16 12h UNF 281402112
- 1"5/16 12h UN 281402116
1= 1" 5/8 12h UNF 281402616
1"1/4 1"5/8 12h UN 281402620
1"1/4 1" 7/8 12h UNF 281403020
1"1/2 1"7/812h UN 281403024
2" 2"1/212h UN 281404032

One piece double hexagonal JIC 37° female

Hose I.D. Thread (inch) Part Number
/4" 7/16" 20h UNF 282420704
1/4" 1/2" 20h UNF 282420804
5/16" 9/16" 18h UNF 282420905
3/8" 9/16" 18h UNF 282420906
3/8" 3/4" 16h UNF 282421206
1/2" 3/4" 16h UNF 282421208
1/2" 7/8" 14h UNF 282421408
3/4" 1"1/16 12h UN 282421712

Ll 1"5/16 12h UN 282422116
1"1/4 1"5/8 12h UN 282422620
1"1/2 1"7/8 12h UN 282423024

28 2"1/2 12h UN 282424032

One piece JIC 37° Female (45° Elbow)

Hose I.D. Thread (inch) Part Number
1/4" 7/16" 20h UNF 281390704
1/4" 1/2" 20h UNF 281390804
1/4" 9/16" 18h UNF 281390904

5/16" 9/16" 18h UNF 281390905
3/8" 9/16" 18h UNF 281390906
3/8" 3/4" 16h UNF 281391206
142" 3/4" 16h UNF 281391208
1/2" 7/8" 14h UNF 281391408
5/8" 7/8" 14h UNF 281391410
1/2" 1"1/16 12h UNF 281391708
5/8" 1"1/16 12h UNF 281391710
3/4" 1"1/16 12h UN 281391712
3/4" 1"5/16 12h UNF 281392112

1" 1"5/16 12h UN 281392116

1 1"5/8 12h UNF 281392616
1"1/4 1"5/8 12h UN 281392620
1"1/4 1"7/8 12h UNF 281393020
1"1/2 1"7/8 12h UN 281393024

i 2"1/212h UN 281394032




Hydraulic one piece fittings 43 Series carbon steel RIAT /R2AT /1SN /2SN /R16 /R17 / 2SC/3TE

One piece ORFS female One piece ORFS male
Hose L.D. Thread (inch) Part Number Hose I.D. Thread (inch) Part Number

1/4:: 9/1 6""18h 289000904 14 9/16" 18h 289120904
”4. 11/16I 16h 289001104 1/4" 11/16" 16h 289121104
5/16" 11/16" 16h 289001105 5/16" 11/16" 16h 289121105

3/8" 11/16" 16h 289001106 ., i
" " 3/8 11/16" 16h 289121106

3/8 13/16" 16h 289001306 ) "
172" 1"14h 289001608 1/2" 13/16" 16h 289121308
1/2" 1"3/16 12h 289001908 5f3:: "1" 14h 289121610
3/4" 1"3/16 12h 289001912 1/ 1"3/16 12h 289121908
3/4" 1"7/16 12h 289002312 3/4" 1"3/16 12h 289121912
1" 1"7/16 12h 289002316 3/4" 1"7/16 12h 289122312
1"1/4 1"11/16 12h 289002720 1 1"7/16 12h 289122316
1"1/2 PilEh 289003224 1"1/4 1"11/16 12h 289122720

One piece ORFS female (90° Elbow) One piece ORFS female (45° Elbow)

U

Hose I.D. Thread (inch) Part Number Hose I.D. Thread (inch) Part Number
1/4" 9/16" 18h 289070904 1/4" 9/16" 18h 289080904
1/4" 11/16" 16h 289071104 1/2" 1" 14h UNF 289081008
5/16" 11/16" 16h 289071105 1/4" 11/16" 16h 289081104
3/8" 11/16" 16h 289071106 5/16" 11/16" 16h 289081105
3/8" 13/16" 16h 289071306 3/8" 11/16" 16h 289081106
1/2" 13/16" 16h 289071308 3/8" 13/16" 16h 289081306
1/2" 1"14h 289071608 1/2" 13/16" 16h 289081308
5/8" 1" 14h 289071610 5/8" 1" 14h 289081610
1/2" 1"3/16 12h 289071908 1/2" 1"3/16 12h 289081908
3/4" 1"3/16 12h 289071912 3/4" 1"3/16 12h 289081912
3/4" 1"7/16 12h 289072312 3/4" 1"7/16 12h 289082312

1" 1"7/16 12h 289072316 " 1"7/16 12h 289082316
1"1/4 1"11/16 12h 289072720 1"1/4 1"11/16 12h 289082720
1"1/2 2"12h 289073224 1"1/2 2"12h 289083224

10



Hydraulic one piece fittings 43 Series carbon steel RIAT /R2AT /1SN /2SN /R16 /R17 / 2SC/ 3TE

One piece NPT male One piece NPSM female 60°cone
FL
RO
Hose L.D. Thread (inch) Part Number Hose L.D. Thread (inch) Part Number

1/4" 1/8" NPT 281610204 1/4" 1/4" 18h NPSM 282610404

1/4" 1/4" NPT 281610404 3/8" 3/8" 18h NPSM 282610606

5/16" 1/4" NPT 281610405 12" 1/2" 14h NPSM 282610808

3/8" 1/4" NPT 281610406 3/4" 3/4" 14h NPSM 282611212

1/4* 3/8"NPT 281610604 T 1"-111/2 h NPSM 282611616
5/16" 3/8" NPT 281610605
3/8" 3/8" NPT 281610606
1/2" 3/8" NPT 281610608
3/8" 1/2" NPT 281610806
2% 1/2" NPT 281610808
5/8" 1/2" NPT 281610810
1z 3/4" NPT 281611208
5/8" 3/4" NPT 281611210
3/4" 3/4" NPT 281611212
1" 3/4" NPT 281611216
3/4" 1" NPT 281611612
E 1" NPT 281611616
i 1" 1/4 NPT 281612016
1"1/4 1"1/4 NPT 281612020
1"1/4 1"1/2 NPT 281612420
1"1/2 1"1/2 NPT 281612424
i|771/7) 2"NPT 281613224
7L 2"NPT 281613232

1



Hydraulic one piece fittings 43 Series carbon steel RIAT /R2AT /1SN /2SN /R16 /R17 / 2SC/3TE

One piece 3000 PSI SAE Straight Flange / Code 61 One piece 6000 PSI SAE Straight Flange / Code 62

—
000

>

s

1
AN ST

Hose 1.D. @ Part Number Hose I.D. @ Part Number
1/2" 30.2 281820808 1/2" 31.8 282820808
i3 38.1 281821208 1/2" 713 282821208
5/8" 38.1 281821210 5/8" 413 282821210
3/4" 38.1 281821212 3/4" M3 282821212
3/4" 445 281821612 3/4" 476 282821612

= 445 281821616 " 476 282821616
1 50.8 281822016 T 54 282822016
1"1/4 50.8 281822020 1"1/4 54 282822020
1"1/4 60.3 281822420 1"1/4 63.5 282822420
1"1/2 60.3 281822424 1"1/2 63.5 282822424
/2 714 281823224 1"1/2 79.4 282823224
2" 714 281823232 oL 79.4 282823232

One piece 3000 PSI SAE 90° Flange / Code 61 One piece 6000 PSI SAE 90° Flange / Code 62

Hose LD. %) Part Number Hose LD. %) Part Number
1/2" 30.2 281830808 1/2" 31.8 282830808
1/2" | 38.1 281831208 il 7.3 282831208
5/8" 38.1 281831210 5/8" 1.3 282831210
3/4" | 38.1 281831212 3/4" M3 282831212
3/4" 445 281831612 3/4" 476 282831612

e | 445 281831616 iE 476 282831616
1 50.8 281832016 1" 54 282832016
1"1/4 | 50.8 281832020 1"1/4 54 282832020
1"1/4 60.3 281832420 1"1/4 63.5 282832420
IR1/2 | 60.3 281832424 1"1/2 63.5 282832424
=172 714 281833224 1=41/2 79.4 282833224
Pl | 71.4 281833232

One piece 3000 PSI SAE 45° Flange / Code 61 One piece 6000 PSI SAE 45° Flange / (ode 62

ST
¢ ERIIUOL]

S e T
T

&
¢ 2

Hose I.D. @ Part Number Hose I.D. @ Part Number
1/2" 30.2 281840808 1/2" 31.8 282840808
1/2" | 38.1 281841208 1/2" 413 282841208
5/8" 38.1 281841210 5/8" 413 282841210
3/4" | 38.1 281841212 3/4" 413 282841212
3/4" 44.5 281841612 3/4" 47.6 282841612

" | 445 281841616 1" 47.6 282841616
1" 50.8 281842016 1" 54 282842016
1"1/4 | 50.8 281842020 1"1/4 54 282842020
1"1/4 60.3 281842420 1"1/4 63.5 282842420
1"1/2 | 60.3 281842424 -1/ 63.5 282842424
=2 714 281843224 =2 794 282843224
2 | 714 281843232 2" 79.4 282843232

12



Hydraulic one piece fittings 43 Series carbon steel RIAT /R2AT /1SN /2SN /R16 /R17 / 2SC/3TE

One piece 9000 PSI SAE Straight Flange / Code 61 One piece 9000 PSI SAE 45° Flange / Code 61

A na A

S NI

Hose I.D. @ Part Number Hose I.D. @ Part Number
1/2" 413 482821212 12" 413 482841212
3/4" 476 482821612 3/4" 476 482841612

i 476 482821616 i 47.6 482841616
i 54 482822016 ™ 54 482842016
1"1/4 54 482822020 1"1/4 54 482842020
1"1/2 63.5 482822424 i 2 63.5 482842424

One piece 9000 PSI SAE 90° Flange / Code 61

Hose L.D. @ Part Number
1/2" 413 482831212
3/4" 476 482831612

= 476 482831616
i 54 482832016
1"1/4 54 482832020
1"1/2 63.5 482832424

13



Hydraulic one piece fittings 43 Series carbon steel RIAT /R2AT /1SN /2SN /R16 /R17 / 2SC/3TE

One piece Metric female cone 24° - I One piece Metric male cone 24¢
RS PTTTTTTIT T A.
| = 1]
) AN N
Hose I.D. Pipe Serie Thread Part Number Hose L.D. Pipe Serie Thread Part Number

1/4% 4] L M12x1.5 28804120604 1/4" (] L M12x1.5 28203120604
/4" 8 L Midx1.5 28804140804 1/4" 8 L Mi14x15 28203140804
/4" 10 L M16X1.5 28804161004 /4" 10 L Mi16X1.5 28203161004
sMe" 10 L M16x1.5 28804161005 516" 10 L Mi16x1.5 28203161005
/8" 10 L M16x1.5 28804161006 3/8" 10 L M16x1.5 28203161006
1/4% 12 L M18X1.5 28804181204 1/4" 12 L Mmi18x1.5 28203181204
5/16" 12 L M18X1.5 28804181205 516" 12 L M18X1.5 28203181205
3/8" 12 L M18x1.5 28804181206 3/8" 12 L M18x1.5 28203181206
E1l 15 L M22X1.5 28804221506 E'L 15 L M22X1.5 28203221506
12" 15 L M22x1.5 28804221508 1/2" 15 L M22x1.5 28203221508
/2" 18 L M26x1.5 28804261808 /2" 18 L M26X1.5 28203261808
5/8" 18 L M26x1.5 28804261810 5/87 18 L M26x1.5 28203261810
/4" 22 L M30x2 28804302212 34" 22 L M30x2 28203302212
1" 28 L M3ex2 28804362816 1" 28 L M36x2 28203362816
1"1/4 35 L Masx2 28804453520 17"1/4 35 L Ma5x2 28203453520
1"1/2 42 L M52x2 28804524224 1"1/2 42 L M52x2 28203524224
1/4" g S M16x1.5 28804160804 1/47 8 S Mi16x1.5 28203160804
/4" 10 S M18x1.5 28804181004 1/4" 10 S M18x1.5 28203181004
5/16" 12 s M20X1.5 28804201205 5/167 10 S M18X1.5 28203181005
3/8" 12 5 M20x1.5 28804201206 /e 10 5 M18X1.5 28203181006
1/2" 12 S M20%1.5 28804201208 56" 12 ) M20X1.5 28203201205
3/8" 14 S M22X1.5 28804221406 /e 12 S M20x1.5 28203201206
142" 16 S M24x1.5 28804241608 3/8" 14 5 M22X1.5 28203221406
5/8" 20 S M30x2 28804302010 1/2" 16 S M24x1.5 28203241608
34 20 5 M30x2 28804302012 5/87 20 5 M30x2 28203302010
/4" 25 S M36x2 28804362512 34" 20 S M30x2 28203302012
1" 25 5 M3ex2 28804362516 3/47 25 5 M3bx2 28203362512
i 30 S Ma2x2 28804423016 1" 25 S M36x2 28203362516
1"1/4 38 S M52x2 28804523820 1" 30 S Ma2x2 28203423016
171/4 38 5 M52x2 28203523820

14



Hydraulic one piece fittings 43 Series carbon steel RIAT /R2AT /1SN /2SN /R16 /R17 /2SC/3TE

0One piece Metric female cone 24° (90° Elbow) 0One piece Metric female cone 24° (45° Elbaw)
PR
Hose.D.  Pipe Serie Thread Part Number Hosel.D.  Pipe Serie Thread Part Number
1/4" 6 L M12x1.5 | 28305120604 1/4" 6 L M12x1.5 | 28306120604
1/4" 8 L | Mi4x1.5 | 28305140804 1/4" 8 L M14x1.5 | 28306140804
1/4" 10 L M16X1.5 | 28305161004 1/4" 10 [ M16X1.5 | 28306161004
5/16" 10 L | Miexl.5 | 28305161005 5/16" 10 L M16x15 | 28306161005
3/8" 10 L M16X1.5 | 28305161006 3/8" 10 L M16x1.5 | 28306161006
5/16" 12 L | m18X15 | 28305181205 5/16" 12 L M18X1.5 | 28306181205
3/8" 12 L M18x1.5 | 28305181206 3/8" 12 i M18x1.5 | 28306181206
3/8" 15 L | m22X15 | 28305221506 1/2" 15 L M22x1.5 | 28306221508
1/2" 15 L M22x1.5 | 28305221508 5/8" 18 L M26x1.5 | 28306261810
5/8" 18 L | M26x1.5 | 28305261810 3/4" 22 L M30x2 | 28306302212
3/4" 22 L M30x2 28305302212 1" 28 L M36x2 28306362816
I 28 L | M36x2 28305362816 1"1/4 35 L M45x2 | 28306453520
1"1/4 35 L M45x2 28305453520 1"1/2 42 [0 M52x2 28306524224
1"1/2 42 L | Ms2x2 28305524224 1/4" 8 S M16x1.5 | 28306160804
1/4" 8 s M16x1.5 | 28305160804 1/4" 10 S M18x1.5 | 28306181004
1/4" 10 S | M18x15 | 28305181004 5/16" 12 S M20X1.5 | 28306201205
5/16" 10 S M18X1,5 | 28305181005 3/8" 12 5 M20x1.5 | 28306201206
5/16" 12 S | M20X1.5 | 28305201205 3/8" 14 S M22X1.5 | 28306221406
3/8" 12 S M20x1.5 | 28305201206 /2" 16 5 M24x1.5 | 28306241608
3/8" 14 S | M22X1.5 | 28305221406 5/8" 20 S M30x2 | 28306302010
1/2" 16 S M24x1.5 | 28305241608 3/4" 20 5 M30x2 28306302012
5/8" 20 s | M30x2 28305302010 3/4" 25 S M36x2 | 28306362512
3/4" 20 S M30x2 28305302012 1" 25 S M36x2 28306362516
3/4" 25 S | M3sx2 28305362512 IE 30 S M42x2 | 28306423016
ik 25 5 M36x2 28305362516 1"1/4 38 S M52x2 28306523820
& 30 s | M42x2 28305423016
1"1/4 38 5 M52x2 28305523820
One piece Banjo metric
1
ST
UL
Hose I.D. @ Part Number
3/16" M10x1 281161003
1/4" M10x1 281161004
1/4" M12x1.5 281161204
1/4" M14x1.5 281161404
5/16" M14x1.5 281161405
3/8" M14x1.5 281161406
5/16" M16x1.5 281161605
3/8" M16x1.5 281161606
3/8" M18x1.5 281161806
1728 M18x1.5 281161808
12y M22x1.5 281162208
5/8" M22x1.5 281162210
3/4" M30x2 281163012

15



Hydraulic one piece fittings 43 Series carbon steel RIAT /R2AT /1SN /2SN /R16 /R17 / 2SC/3TE

One piece Female metric swivel 24°/60° cone One piece Metric standpipe ’—rm/—
— e —— B

] L

Hose L.D. Pipe Thread Part Number Hose L.D. Pipe Part Number

1/4" 8L M14X1.5 284049511 1/4" 6 281580604

1/4" 10L M16X1.5 | 284049520 1/4" [ 8 281580804

5/16" 10L M16X1.5 284049523 5/16" 8 281580805

3/8" 0L M16X1.5 | 284049524 1/4" | 10 281581004
5/16" 12L M18X1.5 284049525 "

5/16 10 281581005

3/g" 12L M18X15 | 284049535 ;, " [ 10 281581006

3/8" 15L M22X1.5 284049552 1/4" 12 281581204

172" 15L M22X1.5 | 284049555 5/16" [ 12 281581205

5/8" 18L M26X1.5 284049571 3/8" 12 281581206

1/2" [ 12 281581208

3/8" 14 281581406

12" [ 14 281581408

3/8" 15 281581506

One piece Female metric swivel 24°/60° cone (90°

Elbow) I 2" | 15 281581508
ST 1/2" 16 281581608
‘ ~LLL i|pL [ 18 281581808
' ’ 5/8" 18 281581810
3/4" [ 20 281582012
3/4" 2 281582212
Hose LD. Pipe Thread Part Number - [ 25 281582516
174" 8L M14X15 284059511 Lis 28 281562816
1/4" 10L M16X15 | 284059520 L I S0 281583016
5/16" 10L M16X1.5 284059523 Ueles B ISR
3/8" 10L M16X15 | 284059524 M2 | 42 281584224
5/16" 12L M18X1.5 284059525
3/8" 12L M18X15 | 284059535
3/8" 15L M22X1.5 284059552 One piece Komatsu swivel female 60° cone
1/2" 15L M22X15 | 284059555
5/8" 18L M26X1.5 284059571 (—_]]__@fjj

Hose L.D. Thread Part Number
1/4" M14X1.5 288049625
3/8" M18X1.5 288049635
One piece Female metric swivel 24°/60° cone (45° 1/2" M22X1.5 288049655
Elbow) 5/8" M24X1.5 288049665
3/4" M30X1.5 288049684
= M33X1.5 288049685
Hose L.D. Pipe Thread Part Number One piece Double crimp standpipe
1/4" 8L M14X1.5 284069511
5/16" 10L M16X1.5 284069523
3/8" 10L M16X1.5 284069524
5/16" 1|71 M18X1.5 284069525
3/8" 12L M18X1.5 284069535
il/z3 15L M22X1.5 284069555 Hose L.D. Part Number
5/8" 18L M26X1.5 284069571 1/4" 283000404
5/16" 283000505
3/8" 283000606
1/2" 283000808
3/4" 283001212
1" 283001616

16



Hydraulic one piece fittings 43 Series carbon steel RIAT /R2AT /1SN /2SN /R16 /R17 / 2SC/3TE

One piece BSP female 60° cone

Hose I.D. Thread Part Number
1/4" 1/8" BSP 281000204
3/16 1/4" BSP 281000403

5/16" 1/4" BSP 281000405
3/8" 1/4" BSP 281000406
1/4" 3/8" BSP 281000604

5/16" 3/8" BSP 281000605
1/2" 3/8" BSP 281000608
1/4" 1/2" BSP 281000804
3/8" 1/2" BSP 281000806
1/2" 5/8" BSP 281001008
1/2" 3/4" BSP 281001208
3/4" 1" BSP 281001612
1/4" 1/4" BSP 281000404
3/8" 3/8" BSP 281000606
1/2" 1/2" BSP 281000808
5/8" 1/2" BSP 281000810
5/8" 5/8" BSP 281001010
3/4" 3/4" BSP 281001212

1" 1" BSP 281001616

One piece double hexagonal BSP female 60° cone

g

Hose L.D. Thread Part Number

1/4" 1/4" BSP 284000404
5/16" 3/8"BSP 284000605
3/8" 3/8" BSP 284000606
1/2" 1/2" BSP 284000808
3/4" 3/4" BSP 284001212

{1 1" BSP 284001616
1"1/4 1"1/4 BSP 284002020
1"1/2 1"1/2 BSP 284002424

2" 2" BSP 284003232

17

One piece BSP male 60° cone
Hose I.D. Pipe Part Number
1/4" 1/8" BSP 281120204
1/4" 1/4" BSP 281120404
3/8" 1/4" BSP 281120406
1/4" 3/8" BSP 281120604
5/16" 3/8" BSP 281120605
3/8" 3/8" BSP 281120606
1721 3/8" BSP 281120608
1/4" 1/2" BSP 281120804
3/8" 1/2" BSP 281120806
1/2" 1/2" BSP 281120808
il/2% 5/8" BSP 281121008
5/8" 5/8" BSP 281121010
1/2" 3/4" BSP 281121208
5/8" 3/4" BSP 281121210
3/4" 3/4" BSP 281121212
3/4" 1"BSP 281121612
1 1" BSP 281121616
1= 1"1/4 BSP 281122016
1"1/4 1"1/4 BSP 281122020
1"1/2 1"1/2 BSP 281122424
2% 2" BSP 281123232
One piece BSPT Male tapered
ST
Hose I.D. Thread Part Number
1/4" 1/8" BSPT 281140204
1/4" 1/4" BSPT 281140404
1/4" 3/8" BSPT 281140604
5/16" 3/8" BSPT 281140605
3/8" 3/8" BSPT 281140606
3/8" 1/2" BSP 281140806
/2% 1/2" BSP 281140808
5/8" 3/4" BSPT 281141210
3/4" 3/4" BSPT 281141212
3/4" 1" BSPT 281141612
e 1" BSPT 281141616
1" 1"1/4 BSPT 281142016
1"1/4 1"1/4 BSPT 281142020
1"1/2 1" 1/2 BSPT 281142424
2" 2" BSPT 281143232




Hydraulic one piece fittings 43 Series carbon steel RIAT /R2AT /1SN /2SN /R16 /R17 / 2SC/3TE

One piece BSP female cone 60° (90° Elbow)

One piece BSP female 60° cone (45° Elbow)

Hose L.D. Thread Part Number Hose I.D. Pipe Part Number
1/4" 1/8" BSP 281070204 1/4" 1/8" BSP 281080204
1/4" 1/4" BSP 281070404 1/4" 1/4" BSP 281080404
1/4" 3/8" BSP 281070604 1/4" 3/8"BSP 281080604
5/16" 3/8" BSP 281070605 5/16" 3/8"BSP 281080605
3/8" 3/8" BSP 281070606 3/8" 3/8"BSP 281080606
1/4" 1/2" BSP 281070804 3/8" 1/2" BSP 281080806
3/8" 1/2" BSP 281070806 1728 1/2" BSP 281080808
724 1/2" BSP 281070808 1/2" 5/8" BSP 281081008
124 5/8" BSP 281071008 5/8" 5/8" BSP 281081010
5/8" 5/8" BSP 281071010 5/8" 3/4" BSP 281081210
24 3/4" BSP 281071208 3/4" 3/4" BSP 281081212
3/4" 5/8" BSP 281071210 3/4" 1"BSP 281081612
3/4" 3/4" BSP 281071212 1" 1"BSP 281081616
1" 3/4" BSP 281071612
i 1" BSP 281071616
One piece Banjo BSP
One piece BSP Swivel female 60° cone compact t O [ 4l
0 b =~
(90° Elbow) =1

Hose I.D. Thread Part Number
1/4" 1/4" BSP 281110404
Hose1.D. Thread Part Number 5/16" 1/4" BSP 281110405
1/4" 1/4" BSP 281270404 3/8" 1/4°BSP 281110406
3/8" 3/8" BSP 281270606 /4 3/8°B5P 281110604
1/2" 1/2" BSP 281270808 5/16" 3/8" BSP 281110605
3/4" 3/4" BSP 281271212 3/8" 3/8" BSP 281110606
/2% 3/8" BSP 281110608
3/8" 1/2" BSP 281110806
1/2" 1/2" BSP 281110808
5/8" 5/8" BSP 281111010
1/2" 3/4" BSP 281111208
5/8" 3/4" BSP 281111210
3/4" 3/4" BSP 281111212
1" 1" BSP 281111616

18



Hydraulic one piece fittings 43 Series carbon steel RIAT /R2AT /1SN /2SN /R16 /R17 / 2SC/3TE

One piece B5P Swivel female flat seat F i One piece BSP female 60° cone +o'ring

Hose 1.D. Thread Part Number Hose I.D. Pipe Part Number
1/4" 1/4" BSP 282000404 1/4" 1/4" BSP 281100404
5/16" | 3/8" BSP 282000605 3/8" 3/8" BSP 281100606
3/8" 3/8" BSP 282000606 1/2" 1/2" BSP 281100808
1/4" | 1/2" BSP 282000804 5/8 5/8" BSP 281101010
3/8" 1/2" BSP 282000806 5/8" 3/4" BSP 281101210
1/2" | 1/2" BSP 282000808 3/4" 3/4" BSP 281101212
1/2" 3/4" BSP 282001208 1" 1" BSP 281101616
3/4" | 3/4" BSP 282001212 1" 1"1/4 BSP 281102016
s 1" BSP 282001616 1"1/4 1" 1/2 BSP 281102420
1"1/4 | 1"1/4 BSP 282002020 1"1/2 2" BSP 281103224
1"1/2 1"1/2 282002424 1"1/4 1"1/4 BSP 281102020
1"1/2 1" 1/2 BSP 281102424
23 2" BSP 281103232

One piece BSP Swivel female flat seat (90°Elbow)

One piece BSP female cone 60° (90° Elbow)

+0'ring T
AL LIl
Hose I.D. Thread Part Number
| e |
1/2" 1/2"BSP 282070808 1/4" 1/4" BSP 281170404
3/4" I 3/4" BSP 282071212 3/8" | 3/8"BSP 281170606
i 1" BSP 282071616 1/2" 1/2" BSP 281170808
5/8" | 5/8" BSP 281171010
3/4" 3/4" BSP 281171212
One piece BSP Male flat seat 1" | 1" BSP 281171616
: : M 1" 1" 1/4 BSP 281172016
2 _ ]_7 1"/4 | 1"1/4 BSP 281172020
s T“ 1"1/4 1"1/2BSP 281172420
- op 0 I BN B 1"1/2 BSP 281172424
2" 2"BSP 281173232
Hose I.D. Thread Part Number
1/4" 1/4" BSP 282120404 Om.:piece BSP female 60° cone (45° Elbow)
3/8" l 3/8" BSP 282120606 +o'ring
3/8" 1/2"BSP 282120806
1/2" | 1/2"BSP 282120808
3/4" 3/4" BSP 282121212
1" | 1" BSP 282121616
Hose I.D. Thread Part Number
3/8" 3/8" BSP 281180606
/2" 1/2" BSP [ 281180808
5/8" 5/8" BSP 281181010
3/4" 3/4"BSP [ 281181212
1" 1" BSP 281181616
1"1/4 1"1/4BSP | 281182020
1"1/2 1"1/2 BSP 281182424
1"12 2"BSP [ 281183224
" 2"BSP 281183232

19



CRIMPING CHART FOR CARBON STEEL COMPACT FITTINGS

Ferrule
=1 Series Inches 5/16" 1"1/4 1"1/2
Crimping @ 16,2 17,9 21 24,2 27,5 31,6 39,4 47,9 56,3 /0,8
SAE R1AT EN 853 15N PFC2212...
@ insert leght| 22,5 23 23,5 26,4 29,8 34,9 42 53,5 53,5 65,7
o Crimping @ 17,5 19,4 22,5 25,3 28,5 32,9 41 51 b 73,3
M| SAE 100 RZAT EN 853 25N PFC2212...
: Insert leght | 22,5 23 23,5 26,4 29,8 34,9 42
< Crimping @ 17 18,8 21,7 24,4 28 32,2 40,2
EN B57 25C PFC2212...
Insert leght 34,9 42
Crimping @ 34,7 42 54 60,5 74,9
SAE 100 R9R  EN 856 45P
& Insert leght 43 48,5 60,5 60 76
E Crimping @ 34,5 42,5 51,8 595 /4,5
W SAE 100 R12 EN 856 R12 ACBED10...
2 Insert leght 43 48,5 60,5 60 76
m Crimping @ 35,4 41,8 51 58,5 74
EN B56 45H
Insert leght 43 48,5 60,5 60 76

Ferrule

Series 5/16" 1"1/4 | 1"1/2
Crimping® | 0,638 0,705 0,827 0,953 1,083 1,244 1,551 1,88 | 2217 2,787
Insert leght | (0,886 0,906 0,925 1,039 1,173 1,374 1,654 2,106 2,106 2,587
Crimping® | 0,689 0,764 0,886 0,996 1,122 1,295 1,614 2,008 | 2,350 2,886
Insert leght | (0,886 0,906 0,925 1,039 1,173 1,374 1,654
crimping® | 0,669 0,740 0,854 0,961 1,102 1,268 1,583
1,374 1,654
1,366 1,654 2,126 | 2,382 2,949
1,693 1,909 2,382 2,362 2,992
1,358 1,673 2,039 2,343 2,933
1,693 1,909 2,382 2,362 2,992
1,394 1,646 2,008 | 2,303 2,913
1,693 1,909 2,382 2,362 2,992

Hose type

SAERIAT ENB531SN PFC2212...

SAE 100 RZAT EN 853 25N PFC2212...

43 SERIES

EN 857 25C PFC2212...

Insert leght

Crimping @
SAE 100 RS9R  EN 856 45P

Insert leght

Crimping @

SAE 100 R12 EM 856 R12 ACB8010...
Insert leght

BW SERIES

Crimping @

EN 856 45H

Insert leght

20



